e BF 2000m

B 528% Tun-— K4 A g
1 624 319 @)l FR 6 KWINGS.AC
2 627 334 HWEX 5 FREJAC
3 6:28 322 1UE EK 6 fRE/N
4 705 337%H TR 5 BEELISD
5 705 3283{xA EAKEH 6 HERK[EL
6 711 320 M FEAY 5 FALhY v—977
7 712 331 BXK BiE 6 REAREREEL
8 725 326|)I[{R E=& 5 #ith7RIJ—k
9 7:31 329 HLE RiD 5 REAREREEL
10 7:31 330 #Lt A 3 REAREREELE
11 7:32 324 % 1%{EA 5 F—LHRE
12| 7:34 338/%H KIB 4 BEELEISD
13 7:37 323 371l ERHH 3 F—LHE
14 7:39 317/ KE =K 4 |KURS
15 7:42) 335 HE 3 FEJAC
16 7:44 318 HHt (R 3 KURS
17 7:58 336 25 HE 2 |ZfRC
18| 800 332/F#F &K 6 REARRREEL
19 808 310 =4 EKE 2 9378BD
20 813 339 & it 2 BEELEISD
21 814 325 &2# A 3 F—LHE
22 833 315 HE RHF 4 |KURS
23 836 341 lUzN ZFE 3 F—LHE
24 844 313 B & 2 957D
25 844 342 #¥E M 4 |Fhdb/h
26 853 312HB & 2 957D
27 859 316 f#fH =|— 2 [ KURS
28 942 311 fE 2 957D
29 9550 333 @A &M 3 REAREREELE
30 950 314|310 X¥ 2 [ KURS
31 10:33 340/ lLA &K 2 BEELEISD
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49

50




